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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1.

QAT A H 379 U9 U9 W AT 37 AaEd: e |

Candidate must write first his / her Roll No. on the question paper
compulsorily.

THt T%T & A AT £

All the questions are compulsory.

Seeh We ST SR Al e STR-YRAH H & o |

Write the answer to each question in the given answer-book only.
S AT | 3T ¥ @UE €, 37 9l o IR UFH W & o |

For questions having more than one part the answers to those parts
are to be written together in continuity.

T U Bl J ST TR B Al YHR B I / SRR/ SRETIE g
W Y AT & WY S TE T |

If there is any error / difference / contradiction in Hindi & English
versions of the question paper, the question of Hindi version should
be treated valid.
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6. ¥ EE&AT 3h TAE T

1-13 1

14-24 2
25-27 3
28-30 4

Q. Nos. Marks per question

1-13 1

14-24 2
25-27 3
28-30 4

7. U9 ShHI% 21, 27, 28, 29 T 30 H & dhed & |
Question Nos. 21, 27, 28, 29 and 30 have internal choices.

1. TEATdH d P9 gag anfvas 39 § 2

3T TR SRIATERES, 39 HITA, ARSI o, URES, e
ITFARTES |

Which of the following are polar molecular solids ?

Solid sulphur dioxide, solid ammonia, iodine crystals, graphite, carbon

tetrachloride. Yo+ Yo

2.  5g NaOH &l 500 ml ST H HieT TAT| IoTa bl HieRdT 3d i ST |

5g of NaOH are dissolved in 500 ml water. Find the molarity of the

solution. 1
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3. UYA UHIRE o S 3HeT & ISR Ah D YIH hi & i 37 Y HaAT i
YHATEU |

Explain pseudo first order reaction by taking the example of hydrolysis

of ethyl acetate. 1

4. II R UG YA HIS Bl T THA & T o ORIk i Threar o @U|

Write the units of rate constants for zero order and first order

reactions. Yo+ Yo

5. SRS T § IR el o SWR[FAl o A oI @u|

Write the names of any two impurities present in bauxite ore. 72 + 2

6. ool o1 IMEH % TS WHA O 99 ¥ 9 7 3T Y HAN o G |

Write the chemical reactions related to Mond process for refining

nickel metal. Yo+ Yo

7.  Zn, Cd U Hg o GshHUT Tcd T8l HHT STl € | SHROT S 57U |

Zn, Cd and Hg are not regarded as transition elements. Give reason. 1

8. SR 3T I 3TF d Al Bl § 2 THb! YT TS |

What is the shape of chromate ion ? Draw its structure. Yo+ Y2

SS—41—Chem. SS-584 [ Turn over



10.

11.

12.

4

Ti* 31 i‘lﬁr\lﬂ eldl %l 0T STy |

Ti**ion is colourless. Give reason. 1

SHAS e H UH SRV AR GARY K A | IWAEA| oS

FEATT ¢ |

Taking an example of an ambidentate ligand, explain why it is called

as ambidentate ligand. Yo+ Y2

dHel ATH K, [Fe(C,0,),] H Fad I WAL I AfeRilwzor e qen

SUTRHISTH H&AT ERIEL

Give the oxidation number and coordination number of the central

metal atom in the complex compound K, [Fe(C,0,),]. Yo+ Y2

a
U e Ak AR SR A C,H O &, 2, 4-SEAEZ% Io1 elEgsi

T AN AT STFET I & e o 3T HhHS ! U AA Ael HIAT |

1 7T T [UPAC AT §eHT §F A @U |

An organic compound having molecular formula C,HO, gives

orange-red precipitate with 2, 4-dinitrophenyl hydrazine, but does not
reduce Tollen's reagent. Give IUPAC name and structural formula of

the compound. Yo+ Y2
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13.

14.

15.

16.

5

TG 37 YU T AT 7 A1 U6 GF A QU |

Write the chemical name and formula of Hinsberg's reagent. 1

T AT o MR W STATCTH U 3TEATeTeh il THRT |

Explain insulator and semiconductor on the basis of conduction of

electricity. 2

TH W & 0-2 L STeld go@d | 126 g W €1 300 K W 38 Joa &l
RO @ 2-57x107° bar T&T T WA & HoR SEHEE HT T IHeH
FHIST| (R = 0-083 L bar mol™ K

0-2 L of aqueous solution of a protein contains 1:26 g of the protein.

The osmotic pressure of such a solution at 300 K is found

to be 2.-57x107° bar. Calculate the molar mass of the protein.
(R =0-083 L bar mol™! K 2
T SR W ST U o U AL FHISOT AU T B © () TN W
feRi® (K,) ¥ 9y a5 |

Write Nernst equation for Daniel cell at equilibrium condition and

derive relationship between E °;; and equilibrium constant ( K.). 2
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17. HHYE-[CoCl,(en),] Tl Hethid-[Co(NH,) (NO,), | FHEA=E! i TTeT
I

Give the structures of cis—[CoClQ(en)Q] and facial—[Co(NH3)3(N02)3]

isomers. 2

18. WA Hl U HY Fed & ? WIH B H A THHOT ¥ A T FA

T G A I S

What is half-life of a reaction ? Derive formula for finding out half-life

from first order rate reaction. 2

19. ST H FARES qAT AT TH FARES b G- I T @T| T AT |

FAR RT3 & TS e RIS ht G0l STl off o1 @u |

Write the structural formulae of benzylic chloride and vinylic chloride.
Also give the state of hybridisation of the carbon atoms in these two

compounds linked to chlorine atoms. 1+1
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20.

21.

7

T A G 3T T HAT3T o FGHIHT o @ :

(37) et AT HAT

(&) T F T T T HATI

Write the equations for the following reactions :
(a)  Wurtz reaction

(b)  Wurtz-Fittig reaction.

TAAGT AR % W GF TS JUPAC 1 &I ST

(31) wHfcSEREs

(&) wEReA|

TAAGA AR o GO T TS JUPAC - &I T

(37) HAITF A

(¥ g TF A
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1+1

[ Turn over



8

Give the structural formulae and IUPAC names of the following

compounds : 4 x Y

(@) Formaldehyde

(b) Acetone.

OR

Give the structural formulae and IUPAC names of the following

compounds : 4 x Yo
(@) Malonic acid
(b) Succinic acid.

22, (37) FHEHIRE 3T FF THR AR FRT T I U Fl € 2 TALare

TR L |

(F) el oTh 3T, HIFTeT sl 3TULT 37 Yeh 3TFART BIdT & | THEART |

(@) How carboxylate ion get stabilised by resonance ? Explain by

the structures.

(b) Carboxylic acids are more acidic than phenols. Explain. 1+1
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23. (2D

()

24. (37)

)

(b)

25. (37

€))

ThIT 1 e G AT

TR T ST 91T &1 /A 2

Write the Haworth structure of sucrose.

Sucrose is a non-reducing sugar. Why ? 1+1

T IIA A T A hd =T S0 |

TATZIST WX B aTell STTRAeRoT Ue 309 i 374 3T YAl of U |

Draw the labelled diagram of Daniell cell.

Write the half-reactions of oxidation and reduction taking place

on electrodes. 1+1

TAAET FAAFA F APHA H X T4 Y H AT U6 TgH A

A YFHATA & A N AEW

Br,/NaOH CHC1 KOH (Teh.
R-CONH, 2/ =X 3/ (&)

UoshHI 3THT 737 9§ Yool &k ¢ | ST & U |
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26.

27.

(b)

(30

()

€3)

(2)

(b)

(31

)

€3))

10

Identify X and Y in the following reaction sequence and also

write the names of the two reactions involved :

Br,/NaOH CHCIl; / KOH (alc.
R-CONH, ro/NaOH o 3/ @le) vy

Alkanamine is more basic than ammonia. Give reasons. 2+1

HYHE & A TN BT F T TR Dl STTTIHAT FT Tt § 2

Teh QT W& &l AH A QU | Jg Qi T &0 FG TR FIAT & ?

FUTGA SIS T 19 U6 g3 A QU |

Why do diabetic persons require artificial sweetening agents ?
Write name of a food preservative. How does it preserve food ?

Give the name and formula of cationic detergents. 1+1+1

TITST SgeTsh ol Ueh 3ETed0T GRT HEIET |

TIA T TR & ST T THHOT A GU|

ShT-T ol Tl X o IT TRh Uehotehl o AT S U |
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€))

€3)

(2)

(b)

28. (31)

()

€3))

11

T SgeTh I T ITEI0T §RT THERU |

AT G TS A19 g agetehl % Ueh-Ush ISe0T &1 S |

S[T-N ! U A & AT T THehl & AT I ST

Explain the addition polymer by an example.

Write the equation of preparation of synthetic rubber.

Give the names of monomers used for obtaining dacron.
OR

Explain the condensation polymer by an example.

Give one example each of thermoplastic and thermosetting

polymers.
Give the names of monomers used for obtaining Buna-N.

1+1+1

0T T 37 YRNY0T U JEE =1eh 37 §RN90y § g X A @U |
T Te ITHAT SSROT B GITH i ST | Tk ohl Ueh-Ush QT80T

sl

o 3{qIe hl AT sh =5 ST3T |

AT
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29.

(30

€))

€3)

(31

€))

€3)

@

12

To T WS g8 SR HiciEel § g HW S E@u|

AR T IR ST TTEHT o 19 & SU | 37k gRT 34 I 37 9 Shametl &
HHRTOT o} U

ST F Y T A o T

Write two differences between physical adsorption and chemical

adsorption.

Define homogeneous and heterogeneous catalysis. Give an

example of each.
Draw labelled diagram of electro-dialysis.
OR
Write two differences between lyophilic and lyophobic colloids.

Give the names of two enzymes present in yeast. Also write

equations of the enzyme catalysed reactions.

Draw labelled diagram of Bredig's Arc method. 1+2+1

T 15 % FW G A dcd Fl A T golde 96 I A QU |
3T T 310] i TIEAT AR |
NH_ ]38 &R %l TN =ToeR HYdl ¢ | 4l ?

9 U ¥ HNO, W Zn % W9 3 9T % FHIHOT & 57T |

AT

SS—41—Chem.



(3m

€)
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@)

(d)

13

T 15 % 91 Al T A9 Ta Toldel 9 oI A QU |
FARN T I ST 6T T HRUT JHLET |

PRI ToTg TR o FHEHIOT o G|

PC, 0] I HTEAT SET |

Write the name and electronic configuration of the third element

from the top in group 15.
Draw the structure of ammonia molecule.
Why does NH, act as a Lewis base ?
Give equations for the reactions of dilute and concentrated
HNO, with Zn.
OR

Write the name and electronic configuration of metal element of

group 15.
Explain the reason of bleaching action of chlorine gas.
Write equations of brown ring test.

Draw the structure of PCl5 molecule. 1+1+1+1
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(30

€))

€))

€]

€)

()

(b)

(©)

14

galgeh-=J <1 Ueshiarel o1 IUPAC A9 Td a1 §F A @U |

TA AT AR F BT a=T o JHEHIOT S ¢
@) S

(i) UAAI

TG Sl START WA o @U |
reran
T T U6T $R &1 JUPAC ATH Ud a1 97 T Q0|

TG 3T T HATS GRT TR o= & FHIHOT & 9

(i) UchREIeT & =Sl gRT

(ii) o T HIAYIT FRT|

TRl ST St SFATRT TEE & @ |
Write the IUPAC name and structural formula of secondary-
Butyl alcohol.

Give equations for preparation of phenol from the following

compounds :

(i) Benzene

(i)  Aniline.

Write the resonance structures of phenol.

OR
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(@) Write the IUPAC name and structural formula of methyl

n-propyl ether.

(b) Give equations for preparation of ether by the following

reactions :
(i) dehydration of alcohols
(i)  Williamson synthesis.

()  Write the resonance structures of alkoxy benzene. 1+2+1
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